shEih EEERIGH

FE EEfi] R1&FE R2&FE R3&EE
RERAKAO A 165,092 163,588 161,601
FKEEZEARD
JOJ«—)L
A= F A 62 60 60
FEiKIRFER - FhK (BR) FhK (BR) FhK (BR)
FIKSZKER % 38.0 36.0 33.5
225 Bk AO1R =D 57
= ATLD : ASZD i 0.73 0.73 0.74
JOJ+ -l KIs SR 17BN
WAKAOLBAYEDD Elzil
SRR 1BA 3.39 3.30 3.34
BIUKEEZE Fm3/ha 0.67 0.67 0.67
Hiigge D IKEA—5 —FE 18/km 81.3 81.3 81.4
JOoJ«.—)L
HEER m/A 6.45 6.52 6.60
#PERTIR - BHRE




PIZtE1E | PIFTE{E | PIZtE1E e o
X5 B PI%& EH{if BN
(R1) (R2) (R3)
A101 TigsReBIEREE 0.35 0.36 0.38 (mg/L)  BREBEZEEAH BEERITES
EAHERY)ERRE/KE (g, I8B%&) .
A102 etk 30.0 20.0 20.0 (BAH ESYERE KEEEE) x 100
gt (%)
%D \OA S S EEK S (KRNI 1KIRER) / KEE
A103 31.0 29.5 33.0 %
BEMEER (%) #fBx 100
B (TOC) EBE/KE S (WaKARDBEHY) (TOC) =R/ KSR /
0,
A104 o 23.3 21.7 28.3 (%) KEEEEK 100
) , (fE, BER) 5 (kDN ZELBEE BKIR) /KE
KEEE | AL05 BLBEEKEEEL® 0.0 0.0 10.0 UEKEDSSMERBR AR /A8
(%) EE(EX 100
Fiiis BREEKEE? B, 18 B S M) B FE KA
N AL06 B R KEEELL A -~ Tl (B B%) Z(%7K$$®éx A BERIE/ $R7KARER) / K
% % (%) BEA(EX 100
= a0y PRHCFYIEHREKE 00 00 0.0 (fE, BER) 5 (kiE0NaltEmERE fkie) /
< St : . ’ (%) KEEZEEX 100
R SHERIERRYIEREKE (i, HBR) 3 (HaKiEDMHBEIERYIERS BKkie%R) /
= A108 = = = 13.3 233 16.7 , (fﬂ?ff LECHBEIEMRYIRE/ $a/KEE)
= R (%) KEBEEEX 100
T& A109 EEEE KEEIEEELL - - - - max =(Xij/GVj )
7K A201 EKKEERE 64 64 65 (E8) KK EARIEE 2
B ERE (B (BFf/100 (akiekEns (BA) SkEmS/mEe
202 E_M@ e e CG=) o4 - 124 / (RKKERE (B0) BKEMRS/BRERK
BEPTZE km?) &) % 100
SRR SER(CBR U R E AR ;
YEE | 203 mctEREER 79.9 79.9 79.9 (%) (SERICARLEEATRRGE / Bicts
PEE) x 100
A204 ERSEKE 97.9 97.9 98.7 (%) (BSR4 EER) X 100
A205 BF/KiEKE R 12.1 11.2 12.2 (%) (BRI KEIE B2 | BEKIEAGEEL) X 100
s A301 KIFREDKESHUFEL 0 0 0 (%) FRIKBEK BB
= A302 #FEMRAIBLE R 8.7 7.5 10.2 (%) (B S A P R R K B/ 4ERT 5K B ) X 100
HESREET | A401 SABMAKER 0.2 0.1 0.1 (%) (SABUA/K BB 2/ 467K A8 21) x 100




B sysm X4 = PIZ, PIFTE1E | PIStE1E | PISTEE Bify tegst
(R1) (R2) (R3)
B101 HIRBKER 61.3 61.3 61.3 (%) (B EREKEKE/2KEKE)x 100
B102 Euk@B1m Yz DKBRFSIRELE 0.00 0.00 0.00 (F/m3) KBRS (TIZE U B R/ EREUKE
B103 /K= 7.7 5.8 5.6 (%) (i F7KIKE / FERIEUKE)x 100
B104 |HESRFIRIER 49.9 50.5 50.1 (%) (—BEFIEUKE/HEE8EE) x 100
B105 |\EATME= 53.5 56.2 54.5 (%) (—BRXEUKE/HEREES) % 100
B106 |&fE= 93.2 89.8 91.9 (%) (—BTE9EkE/—BRABKE)x100
B107 EKEBLERZE 4.1 4.1 4.1 (km/km?) BRI R/ BRTES/KEE
B108 |\BIZREK 35.1 15.3 30.1 (%) (IR UERIEE / BIRIER) x 100
e IR B109 JULT &= 1.4 0.6 0.2 (%) (FRUIZ/ULT % / VLT3R ESR) x 100
B110 k= 6.2 7.5 6.5 (%) (FERIRKE / EREUKE) x 100
B11l &%= 93.3 91.9 93.0 (%) (FERIEMKE / FRIFIKE) x 100
zZ B112 |HUNX 89.6 88.6 88.5 (%) (FRIBIUKE/FERIBLKE) % 100
E B113 ELACHETEREER 0.93 0.92 0.93 (=) BktEN SR/ — B TEKE
L E B114 #kAO—ALZ0DEIKE 311 317 319 (WI=EPN) (—BEEIEUKE/RIERKALD) % 1,000
1z = B115 #a/kHIFRE% 0 0 0 (=) ERIHE/KHIR 2K
7K & B116 |fAZKERE 97.9 97.9 98.0 (%) (RIEFEK A O/H/KXIBA A ) x 100
0)) | B117 Rt 48.5 48.5 48.5 (%) (SRt as By Hekih - BR SHEMASDAETE) x 100
f#t B201 FKBEMEIS 0.00 0.00 0.00 (££/10 - &FF) | 10ERIDEKIBBIETHTE / BKIR8
@ B202 Sk A 46.0 48.0 51.5 (%) (BRI A C/BRAEFAK A ) x 100
B203 Ak ACI— A7 DEFEBERAI KR 145 146 148 (WA (EARAE R 1/2 + REFAMEE) < 1,000/%
TEHARAD
B204 BROEBEHEIS 5.0 11.9 4.9 (/100 km) | EWOSBHFLE /( EWIER/100)
B205 EREROSBHES 0.0 0.0 0.0 (£/100 km) | EBBEROSHAL/ (EREWEER/100)
=ssEnss | B206  HKREROBHEIS 1.6 1.1 1.0 (/100 km) | HKEEEOBHFE / (BRERER/100)
B207 JESKEBIRDOEHRES 11.6 15.5 12.7 (£/100 km) FEBARERROBMAE / (FEHRRBERIEE/100)
B208 fAKEDSBHEIS 1.2 0.8 1.0 (14/1,000 1)  #KEDOBHTE / (BK4FE/ 1,000)
8209 faK AO— A7z DMK - EKES 0.02 0.35 0.70 (585) 5 (WK -EKESRT x WK - BKRIESHAKAL) / 1
i TEHARAD
B210 | KEXIRIIFREBOE 1 3 6 (Bl 4) FER DK E R RENFRIEMEEEK
B211 SHAARREBZE 2.4 2.4 2.4 (&/km) HNARER [ BKEER




- PIETEIE | PIETEE | PLETEIE N o
BiZ bar: X453 HS PI& ==Ly} StER
(R1) (R2) (R3)
B301 BUKELm3 Hi DB/ EEE 0.31 0.31 0.32 (KWh/m3)  @hmmEoast / FrEKE
B302 BUKEIm3 Wiz DHBETRILE— 3.64 3.03 3.38 (MI/m®)  TRLEMES  EEAE
. FikE1m3 Hizh ZTEg{bikzE (CO,) 3 _ .
& B303 o 194 164 171 (g-CO/m®)  [CEALRTE (CO2) HEHE / FRIEKE] x 10
e =
=
o mEesR . ETRE T AL E —BROBHERE | 20
& = B304 MBEFRETRILE—FIER 0.00 0.00 0.00 (%) (BERETHLF -SRORNEER / SHit
1 BHEAZ) x 100
& B305 RKFEETOEMFIREK 100.0 | 100.0 | 100.0 (%) (BHRIBLE / BARAELE) x 100
E DA DL E NI RREIENE | RREENRE
L B306 REEEIEMDUT A ILEK 35.1 38.4 36.8 (%) (;)b::o MICIRIEIRENE / SRS
==A
- X - 5o HAEHEEE + MEEE) BHE
1= o BA01 A5 ILiEHE - EE 60.3 60.7 60.9 (%) L€ MARLR + MRLER) / BEES]
” MR X 100
o B402 EHDFEE 0.14 0.10 0.07 (%) (TR BRI/ BIIES) < 100
e SEETIREEE B2 Tl SR KA /2
| BSO1 HEMAEAIBES KRR 0.0 00 | 00 (%) A
F%HESI)*x 100
fa & CEEMRAESREBI TOSHN - BR - FHERHD
E B502 EEMAFELBIERFHER 71.3 71.3 71.3 (%) EDEEEY
®  SERER Wi - B - SHERAEDAEHER) x 100
SEETRESERR T\ 3 ERIEE/ SIS
B503 AEMAEMBBRERE 25.9 27.6 29.7 (%) iffmﬁﬁﬁ%gzr SRR/ BIHLR)
B504 EEROEHE 0.54 0.49 0.36 (%) (BH &N/ BHIES/ EIER)x 100
B505 EHOBELE 0.00 0.00 0.00 (%) (BN BIIES/ BIER)x 100




) PIEIBIE | PIETBIE | PIETBIE N .
BiZ 348 X453 HS PI& ==Ly} StER
(R1) (R2) (R3)
B601 RMARIDEUKRLER 0.0 0.0 0.0 (%) (BUKREBAE S/ 23 KHEE%EE 1) x 100
_ R AT SR DMEE N T R MEEREE 1/ 2ok MR A
B602 HKHEEEDMIRILE 15.5 15.5 15.5 (%) imljoﬁomﬁ RS IRRLE D £ R E))
(LR - 3BEET SRR KR+
B602-2 EKMERDEBIBEMMEILR 0.0 0.0 0.0 (%) BBOHHER ORI SKIEEREE N )/ 2Bk MR
#]x100
R ITEED IR TP TR SR
B603 K> IFROMEILE 2.7 2.7 2.7 (%) (BRI TR MBALH SR>
TJPrEEFI) %100
TR RO EN RIS/ B EES
. B604  BUAOMR(LE 49.8 498 | 49.8 (%) (IENRDIERA ISR/ BABSH)
z Z58)x100
%= B605 BIROMEER 20.8 21.3 21.6 (%) (HREIE S/ EIRIEE)x 100
L - B606 EHREIOMBEE 34.9 34.9 35.4 (%) (BREBROSSHESIES/EHERIEE)x 100
- N (BBEBROS STREAEDS > ERIEE/EHE
i ) B606-2 EEBEROMEESE 65.4 65.4 65.8 %
X o BayER ERBHONRE ) FHER)x 100
= o (BEEKIERRKERDS STIRSHES/BEEK
KK SO TR S . . . 9 :
) & B607 EEHEKIERE/KERDOMEE 49.3 51.0 52.0 (%) MR B EEIES ) x 100
1# S S T A st (BB KIEREKERD S STHEBEA DS 5B
B607-2 BT KIEREKEROMEBEAR 65.4 66.9 67.9 % -
@ BRI BHOMRE (%) L/ SEKIERA K ERIES)x 100
o ;I’h EEE‘H‘ (: = &b p— £y ,1:
B608 (=MEIEKEHERE 200.5 | 198.1 | 199.8 (%) S;ﬁflz{;%% R cE SRUKED/ —HTIRA
==A
(TSR R S — O T EAE) (2 (P
B609 ERMFEEEL 12.0 11.2 9.4 (=) PIERRITRR/ AR — A TEEER)DS 5,
LA DE
B610 MMMEERL 0.6 0.6 0.6 =) AR/ — B B R
B611 ISEWAKIEREE 2.4 2.4 2.4 (EPF/100 km?)  ISEbokEsass (BER/KE/100)
B612 {AKERBE 0.01 0.01 0.01 (&/1,000 A)  #/kEsy (RrERK AD/1,000)
B613 EHADEKYZIREE 0.10 0.12 0.12 (m3/1,000 A) |E#HAEKY>ODER/($KAD/1,000)




s | = - i PIETE1E | PIStEE | PISTHIE oy .
(R1) (R2) (R3)
C101 HRINZILE 116.1 | 112.7 | 114.9 (%) [(ERINz - ST HIGS) / (EREA- ZETHHE) 1x 100
C102 EENSZILE 1149 | 1120 | 114.3 (%) [(E30Ra + EHEOMIRES )/ (2R + ERIEA)|x 100
C103 #uRsztts 1146 | 111.9 | 114.0 (%) FAIR4S/#628F9) x 100
C104 RERIERILE 0.0 0.0 0.0 (%) [ RIS/ (%I — BEETHING)1x 100
C105 MARILE (IRZHURAS) 2.6 2.5 2.2 (%) (RESBITERR A &/ IRASEIRA ) x 100
C106 MBARLLE (HANIRAS) 9.5 10.2 9.3 (%) (EARBIEA S/ ARG X 100
C107 WE— AN DIKIRES 64,915 | 63,151 | 62,485 | (FA/A)  fakiRis/mastErimmas
C108  #/KIRZ(CH S BMBSSHDEIS 9.9 10.3 9.7 (%) (BB 528/467KIRS) X 100
C109  HKINEICH T BORREFBDEE 7.0 6.5 6.0 (%) (BHBERIB 467K IRES) x 100
C110  HKINEICH T BRMEEAIBE DTS 323 | 336 | 344 (%) (ARATS 2028/ 467K IRS) x 100
Cl11 KIS ICH T ZRBRROEHOLLEMETRONS | 320 | 324 | 32.9 (%) (RIER DT bR EEMEE T &/ 67KINES) < 100
@ C112 MKINEICH T BORERBDEE 4262 | 4284 | 4313 (%) (3R /467K IRES) X 100
& C113  RBEURE 109.4 | 1069 | 109.9 (%) (BT KR < 100
72 o Cl14 (AN 2122 | 2107 | 210.3 (/M3 feokimas FRvEIE
i B EEEE L s ks 1940 | 197.2 | 191.3 (F3/m?) gﬁsﬂfﬁéi;iig;ﬁgzii;g%ﬁmﬁm+ ERE
= C116  1/VA10 mPdfe DREFRE 1,702 | 1,702 | 1,702 (F3) 1 PALOmSTE DREFIE
2 C117  17VA20 mPdfe DREFRE 3922 | 3,922 | 3,922 (F3) 1 7VA20m’ e DREFIIE
C118 FBItLE 2242 | 260.8 | 256.5 (%) FEEE/FBEE)x100
1o | BRI o1 | s34 | sao ) [l(éé;zsﬁ&u%ﬁﬁmﬁ@ﬁ%+fﬁ§ﬂ_um)/ i - @R Ix
C120 EELLE 1653 | 160.3 | 155.1 (%) (EVEAE/(EAd+ BRI+ IEINES)]x 100
C121  EEER TR LR 1039 | 1017 | 101.2 (%) [ARRROEDHOTHRMBE/ (SFELRMNLR--SRHZ
£&=A)]x100
C122 BEEAEDHEE 012 | 012 | 012 (=) (B3R - BT HIGS)/[(HEEEEE + BREEEE)/2]
C123 EEAEEANE 6.6 6.6 6.5 (M/BM)  EMRkEAREEEE
C124 WE—ANEDERKE 306,000 | 300,000 [ 297,000 |  (m¥A)  FMEANKE / AREEHREBEL
C125 HEHEREOBE 0.05 | 005 | 0.07 | (#/1,000#) BmIEFERAEL/ (REFEREL1,000)
C126 HIBIAE 91.0 | 909 | 91.4 (%) (REWMAT BISH) x 100
C127 KBRS 9.0 5.5 5.4 | (#£/1,000 #) KMILAR / (#K#FE/1,000)




PIZt&{E | PIFTE1E | PIGtE(E o _
Bz oyl X5 B PI%& =<tv STER
(R1) (R2) (R3)
C201 IKERMICET 3ERIVEE 2.73 2.82 3.22 (/N BENEEL TV BKERIICRI T 3 a8 / 2B
C202 HMEBEHESHERI 10.3 4.5 6.6 (BEFRS/A) (BN IMEBIHER S IR SHEAL) / £BEH
C203 AIEBIHERER] 0.0 0.6 0.7 (BERE/A) (BENNEHEE S TR FHEAL) / 2BEXK
:‘g AMBRE | C204 HfilgES=R 58.1 63.3 63.3 (%) (IS / £HEX) x 100
. C205 [JKEBEFTFITRERELN 8.7 8.5 8.9 (F£/N) RS D/KEREFSIREREL / IS
A C206 EEBIREEL 0 0 0 (N-B) > (ERRHREER x BEEH)
1 C207 EERBHZAEHR 0 0 0 (A-H) T (ERRHZABE x HBIEAR)
i C301 #R$HEFER 100.0 100.0 100.0 (%) (BREUAKEA—T—# /| KBA—5—FBBE) x 100
é %%%EEE:E = =: = =] N AT N S
- = 302 [exmm=E=miE 0.0 0.0 0.0 %) (1§0EO_'?§§D£ UTEoKiB ik HESREE 1T / SRk HEEREEST) X
i C401 LIREEICKBIBHRODIBME 0.0 0.0 0.0 (EB/45) [LERES T & DBEARERER / HaKAHER
= - 1B | C402 1> —Fv MNMCKBDIEROIZHE 11 8 5 (=) T I R—SADBEEE
= a a'j C403 IKEMERRZHEIIS 6.53 3.01 6.71 (A/1,000 N) |B2E#/ (RTEHKAD/1,000)
_ =
; = C501 EZHFE& 0.08 0.00 0.00 (A/1,000 N\) | E=#HA#/ (GRIEkKAD/1,000)
| = C502 7> 24— NMERINERS 0.81 0.15 0.82 (A/1,000 N) | 72— REBA/ (BIERKADO/1,000)
> ; — C503 EESRAR 0.0 88.0 82.0 (%) (EIBERFAEES / 7> — NEIEE) x 100
=B
3 C504 IKEH—EXRICHTIHELDIE 0.01 0.00 0.00 (f£/1,000 #4) |KEY—E S BRGEE / (FKHEE2/1,000)
C505 KE(CH T IEBMIGEE 0.19 0.09 0.17 (f£/1,000 #) | KESBESHEE / (KE28/1,000)
C506 JKERE(CH T IEHBEWGEE 0.01 0.00 0.01 (f£/1,000 #) |HERSEBEMGAE / (FaK4E82/1,000)




